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R.[Question ID = 19709][Question Description = Ph.D.KORH_Q_001]
D 7 & 2ACH SO K. [Option ID = 145325]

CHI0 =& A4CH O R. [Option ID = 145326]

= 20l 78 UCH {0 K [Option ID = 145327]

Db 2N & UL FAH K. [Option ID = 145328]
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A2 1 Z Ml 2 [Question ID = 19710][Question Description = Ph.D.KORH_Q_002]
2 20l LE0E A0l ScetUCHH 2ot 2 K. [Option ID = 145329]

2 20l 2E0% A0l SetJtoF &l 2= K. [Option ID = 145330]

2 20l LEUE W= H01 X 2T K. [Option ID = 145331]

2 20l 2EUE WD 20| &S HAF K. [Option ID = 145332]
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[Question ID = 19711][Question Description = Ph.D.KORH_Q_003]

1. Lb: o, 28t vt setst I 0tL 2 1 Xgofl 2 oot S .
[Option ID = 145333]

2. Lk O, 28 Ht&tS Setet ELNA 2 o 2 Diohot S R.

[Option ID = 145334]
3. Lb: Of, 28 HIRIS SUE =2 O X0l 2 Do)t 9.

[Option ID = 145335]

4. Lb:oll, 28t HZE Sttet E=2

[uiiy=d)

H

Qlgl 1 XIgholl 2 mwahot Se.

[Option ID = 145336]
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[Question ID = 19948][Question Description = Ph.D.KORH_Q_004]
1. SHGIC

[Option ID = 145337]

2. 2=

[Option ID = 145338]
3. BHAlGICH

[Option ID = 145339]
4. 2=

[Option ID = 145340]
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[Question ID = 19949][Question Description = Ph.D.KORH_Q_005]
1. JHEGHCH

[Option ID = 145341]
2. SEHO0ICH

[Option ID = 145342]
3. 2ot

[Option ID = 145343]

4, 2as

[Option ID = 145344]

6) S A SHA 2= 222 I?[Question ID = 19950][Question Description = Ph.D.KORH_Q_006]
A20ILE EX SHAM 0 AtA S 2ZelD| fIol W =& = [Option ID = 145345]

=S OHME Soll e AFRSUHAH MZ2 AA0ILE EEE 22 [Option ID = 145346]

2CIQ &2 E= A2 [Option ID = 145347]

OtE0l 812 &= UAESE Lt2= &I 2 [Option ID = 145348]
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[Question ID = 19951][Question Description = Ph.D.KORH_Q_009]
1. 1,3&5

[Option ID = 145349]
2. 1,3&6

[Option ID = 145350]
3. 4,6&2

[Option ID = 145351]
4.5 48&2

[Option ID = 145352]
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4. 2ottt et 232 Xiel

5. HXICH O 2HA Ld=Z Y2ts

[Question ID = 19952][Question Description = Ph.D.KORH_Q_010]
1. 1-Jt, 2-2t, 3-0t, 4-Lt, 5-Ct

[Option ID = 145353]
2. 1-Jt, 2-0t, 3-2}, 4-Ct, 5-U4

[Option ID = 145354]
3. 1-Lt, 2-Cf, 3-2t, 4-01, 5-2t

[Option ID = 145355]
4. 1-Lt, 2-0t, 3-0t, 4-ct, 5-Ct

[Option ID = 145356]

[0
HU
e
=2}
rr
Mo
L('Jﬂ
U
e
02
Qﬂ
i
30
B
e
=}
rr
FD
fon

9) Statement A: 2102 £ 2eld= R SE FMIHEL 22
of It &0 lH=20IC

Statement B: MictA H OOl =S XECH, ‘23 A0, ESAAHE, 23
[Question ID = 19953][Question Description = Ph.D.KORH_Q_011]

1. Statement A is the reason of Statement B [Option ID = 145357]

2. Statement B is the reason of Statement A [Option ID = 145358]

3. Statement A & Statement B are not related. [Option ID = 145359]

4. Statement A & Statement B are both incorrect. [Option ID = 145360]
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10) The subfield of linguistics that studies the internal structure of sentences and the relationships among the internal

parts. [Question ID = 19954][Question Description = Ph.D.KORH_Q_012]
1. Phonetics [Option ID = 145361]

2. Syntax [Option ID = 145362]

3. Semantics [Option ID = 145363]

4. Pragmatics [Option ID = 145364]

11) Statement A) Korean Consonants consists of stops, fricatives, nasals, and liquids. The three types of stops -voiceless
aspirated, voiceless unaspirated, and fortis are produced in labial, alveolar, alveopalatal and velar places.
Statement B) Fricatives include /s/, /s'/, and /h/, and there are three places of articulations for nasals.

[Question ID = 19955][Question Description = Ph.D.KORH_Q_013]
1. Statement A is true but Statement B is false.

[Option ID = 145365]



2. Statement B is true but Statement A is false.

[Option ID = 145366]
3. Statement A & B both are true.

[Option ID = 145367]
4. Statement A & B both are false.

[Option ID = 145368]

12) The part of language study that deals with word formation rules is also called as [Question ID =

19956][Question Description = Ph.D.KORH_Q_014]
. Language styles [Option ID = 145369]

Theories of meaning [Option ID = 145370]

. Derivational morphology [Option ID = 145371]

. Hypothetical morphology [Option ID = 145372]

AWN—\

13) Statement A) The term Morphology deals with the study of structure of words.

Statement B) Morphology also refers to study of the structure and systematic patterning of sounds in human languages.
[Question ID = 19957][Question Description = Ph.D.KORH_Q_015]

Statement A is true and Statement B is false. [Option ID = 145373]

Statement A is false and Statement B is true [Option ID = 145374]

. Both Statement A and Statement B are false. [Option ID = 145375]

. Both Statement A and Statement B are true. [Option ID = 145376]
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14) Statement A) XIS2 2JIJI HOUHASH & 22 U
Ol Ct.
Statement B) RS2 SHAECZ SES 248 = Y= 0H, A2 A& XN RotCh= A 0ICh
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[Question ID = 19958][Question Description = Ph.D.KORH_Q_0O
1. Statement A is true and Statement B is false.

[Option ID = 145377]
2. Statement A is false and Statement B is true.

[Option ID = 145378]
3. Both Statement A and Statement B are false.

[Option ID = 145379]
4. Both Statement A and Statement B are true.

[Option ID = 145380]

15) Statement A: In Semantic analogy, a new word is formed based on meaning by changing only part of the existing word,
thereby producing a word which has a semantic relation to the original word.

Statement B: Semantic analogy contributes to semantic regularities as does the morphological analogy, and strengthen the
productive power of a given word.

[Question ID = 19959][Question Description = Ph.D.KORH_Q_017]
1. Statement A is true and Statement B is false.

[Option ID = 145381]
2. Statement A is false and Statement B is true.

[Option ID = 145382]
3. Both Statement A and Statement B are true.

[Option ID = 145383]
4. Both Statement A and Statement B are false.

[Option ID = 145384]

16) are single vowel sounds that begin in one vowel position and end in another vowel or glide

position. [Question ID = 19960][Question Description = Ph.D.KORH_Q_018]
Dialectal Vowel [Option ID = 145385]

Dlphthongs [Option ID = 145386]

Lax Vowel [Option ID = 145387]

Fricatives [Option ID = 145388]
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17) Statement A) As per Hallidayan linguistics notion of rank, a sentence consists of one or more clauses, a clause consists
of one or more groups, a group consists of one or more words, a word consists of one or more morphemes.

Statement B) As per functional grammar, the basic unit is often said to be the clause. [Question ID = 19961][Question
Description = Ph.D.KORH_Q_019]

Statement A is true and Statement B is false. [Option ID = 145389]

Statement A is false and Statement B is true. [Option ID = 145390]

. Both Statement A and Statement B are false. [Option ID = 145391]

. Both Statement A and Statement B are true. [Option ID = 145392]
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18) Statement A ) Noam Chomsky argues that language acquisition cannot be accounted for without positing a linguistically
specific system of principles and parameters that every healthy child is genetically endowed with, a system he refers to as



Universal Grammar (UG).

Statement B) Noam Chomsky claims that the linguistic data available to the child are themselves impoverished and not
sufficient for a child to inductively arrive at a grammar capable of producing well-formed novel expressions yet at the same
time not producing ill-formed expressions. [Question ID = 19962][Question Description = Ph.D.KORH_Q_020]

Statement A is true and Statement B is false. [Option ID = 145393]

Statement A is false and Statement B is true. [Option ID = 145394]

Both Statement A and Statement B are false. [Option ID = 145395]

Both Statement A and Statement B are true. [Option ID = 145396]
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19) 8t 259 A4 8 HFI 0t 22 12 Al 2.[Question ID = 19963][Question Description = Ph.D.KORH_Q_021]
413} [Option ID = 145397]
& & [Option ID = 145398]
%I} [Option ID = 145399]
3} [Option ID = 145400]
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20) SIS HE QEA Ot U NELASA AFTHE XNISol A & Z(genre)ctd L ZLL ‘Y4 0lctl otRA=0,

RES OI 8t 0Ot 2 WXl &l 12 ALt [Question ID = 19964][Question Description = Ph.D.KORH_Q_022]
1. TBI 28t [Option ID = 145401]

2. &It [Optlon ID = 145402]

3. 22l [Option ID = 145403]

4. AIE [Option ID = 145404]

21) 320 XF0 22=E8H0 St FA LFE AS A OtLIcH SRS UEAMEUHEM S2E L=
OIS AdS2 XNAEY 252 HE 2SE 25 020 A= 0| SFOICH 0l A0l eI

[Question ID = 19965][Question Description = Ph.D.KORH_Q_023]
1. A=

[Option ID = 145405]
2. mAg

[Option ID = 145406]
3. 02

[Option ID = 145407]

4. &8

[Option ID = 145408]

22) S HEZ S0AH FH S ZAHIL A= A 0| A2l I?[Question ID = 21792][Question Description =

Ph.D.KORH_Q_024]

&3} [Option ID = 145409]
012 [Option ID = 145410]
20} [Option ID = 145411]
&1} [Option ID = 145412]
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23) Ml 2 =2KE & X3 +~E HHE 22 BtE ‘K& Al XI =(2019 Global K-Pop Map)’Jt SHECt Ol SE O A JF
=2 X3+EJS6IE=2 OS2 X3 HE0 & =UAL

[Question ID = 21793][Question Description = Ph.D.KORH_Q_025]

1. E2AO0IA

[Option ID = 145413]
2. gErAUEC

[Option ID = 145414]
3. =83

[Option ID = 145415]
4. AL

[Option ID = 145416]
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24) ESE RS0 ESHA E 0l ¢ EH=0IHA 22 2HME QA0 E MESH2 XIISE = AL
Olol AMME ADLA BN S0 23 LANULSE MO JA=HAAH NEE FE 5 AL

[Question ID = 21794][Question Description = Ph.D.KORH_Q_026]

1. A4

[Option ID = 145417]
2. &3

[Option ID = 145418]

3. =2

[Option ID = 145419]
4. o)

[Option ID = 145420]

25) HEHA FAZY =S I BEUA S & SA B& F AIZAA E 201649 HEHA AHUWAYE




22 L£MX™0Z2 gHEIMO. [Question ID = 21795][Question Description = Ph.D.KORH_Q_027]

1. 2ok Hot ‘4o HI:“ [Option ID = 145421]

2. 8HZ At ‘THAIS=2I KL [Option ID = 145422]

3. &0 HIF‘EE O ZE’ [Option ID = 145423]

4. 489 At ‘GHE L&’ [Option ID = 145424]

26) & X %S A2 12 A 2.[Question ID = 21796][Question Description = Ph.D.KORH_Q_028]

1. 28 =SS Sdi St=32E2 EME Hel HEE = A= JI8E 2= A2 SKGtC. [Option ID = 145425]

2. 28 XE2 Sol0 Ao 23tHAM= ZEotA R¥E CHest 2= MEE &= QUL [Option ID = 145426]

3. S20USUAN 2 XES 2E6 WE RYNIS2 Zeto 22 W 2Hs 5 (HI/\‘I St & SefHChd g 2=QUCH [Option ID = 145427]
4, SIRHUSUHAM 2= 25 A2 4 =2 BIIE 2= 4Z0| 2S00 ECt. [Option ID = 145428]

27) WotOag oSS €D 0l Q= tetstU2d SR XNUX SACH WIFD2 0IES EcI=AS M = L

HZ 2tM 201 & ACH
AL L2 ANY0ES X2AN2.
[Question ID = 21797][Question Description = Ph.D.KORH_Q_029]

1 3|7<AO| Ol

[Option ID = 145429]
2. AAgo =

[Option ID = 145430]

3. 2Ea0 B

[Option ID = 145431]
4. A" 0|2

[Option ID = 145432]

28) XM, N, dlete A53435101 , ESANE BENANSIHNAET 2F A0 20| AD M OIEZ
B O Gt Cte 2 A 0] UL [Question ID = 21798][Question Description = Ph.D.KORH_Q_030]
1. E2.5% &l3} [Option ID = 145433]

2. =™ 43} [Option ID = 145434]

3. @413t [Option ID = 145435]

4, J0IE 2E A& [Option ID = 145436]

29) 22 &2 12 M [Question ID = 21799][Question Description = Ph.D.KORH_Q_031]
1. 287 = 2 & (& C=0110 2tF W20l =23t 0 240/ Ch [Option ID = 145437]

2. BRI = 2E Y 20110 2F HEO0| =350 =40/ L. [Option ID = 145438]

3. YRAPE= 2E A 0110 2HE WE0| =235 &4 0I&Ch. [Option ID = 145439]

4, dEAD= 2HF & 20110 22F SO0l M0 2/5H0 24 0] &Lt [Option ID = 145440]

30) Statement A) JI 2= ZAIS ZA DECOIAM UEILIS Of® S AAN, 8B, BIE)S =X 510 9 8 ZA0IC
Statement B) J|=& Z A= 012 AIZBOA st H Ol & £8E)| 20 SHE XAt 221 % 8L [Question ID = 21800]
[Question Description = Ph.D.KORH_Q_032]

Statement A is true and Statement B is false. [Option ID = 145441]
Statement A is false and Statement B is true. [Option ID = 145442]
Both Statement A and Statement B are false. [Option ID = 145443]
Both Statement A and Statement B are true. [Option ID = 145444]
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31) A SH2IE=AF U4 20,Zd, dcl) HAHNE 2 X6IHA, &S A0| OfLIch Xt A QI
E3UA AR B4 S Ololiol=0 =SS F=IHE S l2ot=0 ACHLD SO

[Question ID = 21801][Question Description = Ph.D.KORH_Q_033]
1. R AR

[Option ID = 145445]
2. 2H o4

[Option ID = 145446]
3. XX ein

[Option ID = 145447]
4. )= o1

[Option ID = 145448]

32) MEQEO A0 Ot HE 024 Al2. [Question ID = 21802][Question Description = Ph.D.KORH_Q_034]
222 I 2S5t 2 [Option ID = 145449]
AZE AE 2 OloiHES S 20 == =1 [Option ID = 145450]
MAHg 2ot DA & [ Atgdts [Optlon ID = 145451]
KO S8t 20I1E XY [ AHE3t= 24 [Option ID = 145452]
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33) Statement A)
SIH =2 :HetE e HER , SHHEES

AR =040 I XNAMALALHUWE SSHEZZE ASHEOIH M



Statement B)

YH =2 [ A
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[Question ID = 21803][Question Description = Ph.D.KORH_Q_035]
1. Statement A is true and Statement B is false.

o

fujo
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=

[Option ID = 145453]
2. Statement A is false and Statement B is true.

[Option ID = 145454]
3. Both Statement A and Statement B are false.

[Option ID = 145455]
4. Both Statement A and Statement B are true.

[Option ID = 145456]

’éfé“ﬁ":H':' aRs =29

34) CHAOl CHEHOl 28t Xt o= X JH20 JHE A= 0|1 g
= & 8t Ct.[Question ID 21804]

Z/2Z HIANGIH, =28 2 20| 0
[Question Description = Ph.D.KORH_Q_036]
51 AL 2 [Option ID = 145457]
o1 2 [Option ID = 145458]
OI2X H§ & [Option ID = 145459]
o1 22 [Option ID = 145460]

A w N =

35) A is a plan of action that gives direction to conduct research systematically and efficiently.
[Question ID = 21805][Question Description = Ph.D.KORH_Q_037]

1. Research Approach [Option ID = 145461]

2. Research Results [Option ID = 145462]

3. Research Target [Option ID = 145463]

4. Field research [Option ID = 145464]

36) = M3 S 200 A 28 SALE JH& T HHOZ o7 BO0F 9 F AHIA E0FS & F
OlA = OH&EHDHXI 2 E=H 0l ._—_r1 ggo=z E 236t =28 A7 I8 0| Ch[Question ID =

21806][Question Description = Ph.D.KORH_Q_038]
Jl&R o1 A o7 [Option ID = 145465]

™ 017, 9EX 017 [Option ID = 145466]

9 o1, &X o172 [Option ID = 145467]

OkX 0171 J| X017 [Option ID = 145468]

A W N -

37) X Ute+Fo st Yoz A Jlg2 e E= A0l OS2 MEHMAE HEAH M2Adt=X, & &
Moo 2E5S HEHN 2FHot=XE I 25t= O = E35tLC. [Question ID = 21807][Question Description =
Ph.D.KORH_Q_039]

&2 X AL [Option ID = 145469]

2=Qf 22 [Option ID = 145470]

Ol 7 = At [Option ID = 145471]

o2 2t 24 [Option ID = 145472]

AW N =

38) g UER=ZUINEHRZ NS EUHE, AN L HLHIA BE2Z AEHRE AMEGH & A
J8S iUt EEHHE LE0L 0lHE QEHT YA E£HE NS Z2 HA N AERE O R0l 2= LA0I0CH
[Question ID = 21808][Question Description = Ph.D.KORH_Q_040]

1. D421 OIE{S [Option ID = 145473]
2. NNHE OIS [Option ID = 145474]

3. ZHDIE QI H [Option ID = 145475]

4, JZUIIE CIEH R [Option ID = 145476]

39) E2 =202 AW UX 2222 DEA2.[Question ID = 21809][Question Description = Ph.D.KORH_Q_041]
1. H2FHA ARSHCl HZ 60 SHCE. [Option ID = 145477]

2. IR 2HII 0|2 T A2 XANA Z28 200/0{0 BCF. [Option ID = 145478]

3. tEE2 SE BEEE 2ol0F ot= U A =210] ©I00F E L. [Option ID = 145479]

4, Uz 240 AI=E SHIOIES Z6HAH OIaiaHOF SHCt. [Option ID = 145480]

40) Statement A ) The Advance Learner’s Dictionary of Current English lays down the meaning of research as “a careful
investiogation or inquiry specially through search for new facts in any branch of knowledge.”
Statement B) Redman and Mory define research as a “systematized effort to gain new knowledge.”

[Question ID = 21810][Question Description = Ph.D.KORH_Q_042]
1. Statement A is true and Statement B is false.

[Option ID = 145481]
2. Statement A is false and Statement B is true.

[Option ID = 145482]
3. Both Statement A and Statement B are false.



4.

[Option ID = 145483]
Both Statement A and Statement B are true.

[Option ID = 145484]

41) includes surveys and fact-finding enquiries of different kinds. The major purpose of this research is
description of state of affairs as it exists at present. In Social Science and Buisness research, quite often the term Ex post
facto research is used for this research.

[Question ID = 21811][Question Description = Ph.D.KORH_Q_043]

1.

Analytical
[Option ID = 145485]

. Descriptive

[Option ID = 145486]

. Qualitative

[Option ID = 145487]

. Quantitative

[Option ID = 145488]

42) Statement A) Motivational research aims at discovering the underlying motives and desires, using in depth techniques.
Statement B) In such researches it is necessary to get at facts firsthand, at their source, and actively to go about doing
certain things to stimulate the production of desired information.

[Question ID = 19966][Question Description = Ph.D.KORH_Q_044]

1.

Statement A is the reason for Statement B.

[Option ID = 145489]

. Statement B is the reason for Statement A.

[Option ID = 145490]

. Statement A & Statement B are false.

[Option ID = 145491]

. There is not relation between the two statements.

[Option ID = 145492]

43) relies on experience or observation alone, often without due regard for system and theory. It is a
data-based research, coming up with conclusions which are capable of being verified by observation or experiment.
[Question ID = 19967][Question Description = Ph.D.KORH_Q_045]

A W N -

. Analytical [Option ID = 145493]

. Conceptual [Option ID = 145494]

. Empirical [Option ID = 145495]

. Quantitative [Option ID = 145496]

44) Statement A) Research Methods are all those methods/techniques that are used for conducting a research.
Statement B) Research methods refer to the behavior and instruments used in selecting and constructing research
techmques [Question ID = 19968][Question Description = Ph.D.KORH_Q_046]

AwN—i

Statement A is true and Statement B is false. [Option ID = 145497]
Statement A is false and Statement B is true. [Option ID = 145498]
Both Statement A and Statement B are false. [Option ID = 145499]
Both Statement A and Statement B are true. [Option ID = 145500]

45) Statement A) Research questions are the sorts of questions that the researcher needs to formulate in order to define
the research project.

Statement B) In Research questions, the wording of a question can be central in defining the scope of the study, so it should
necessarily have to be expressed as question(s). [Question ID = 19969][Question Description = Ph.D.KORH_Q_047]

1. Statement A is true and Statement B is false. [Option ID = 145501]

2. Statement A is false and Statement B is true. [Option ID = 145502]

3. Both Statement A and Statement B are false. [Option ID = 145503]

4. Both Statement A and Statement B are true. [Option ID = 145504]

46) SYAHAP HAEE A 0| R A 2IIF?[Question ID = 19970][Quest1on Description = Ph.D.KORH_Q_048]
1. & S0l SHLESl 242101 2HZGHH S0 UM, TS Hete22 HZ 0l XH A2 A [Option ID = 145505]

2. SHO J|Etet 2 AS =clZo2 A6 oAl HOHOl o|HAS EE. [Opt1on ID = 145506]

3. A FHIQ 2A gers AT, EMNKIS HFE OHASHH, H7 SSUHMLE £ &= 2. [Option ID = 145507]

4. SEHC ECZ HHEoHH =2H el 02 A4S 1 [Option ID = 145508]

47) Which of the below items is not a sample design formate?[Question ID = 19971][Question Description =
Ph.D.KORH_Q_049]

A W N -

Deliberate Sampling [Option ID = 145509]
Stratified Sampling [Option ID = 145510]
Observational Sampling [Option ID = 145511]
Sequential Sampling [Option ID = 145512]



48) The purpose of to research is to form a data base from which to infer characteristics or relationships of
population. This usually means survey research where a sample of population is studied (questioned or observed) to
determine its characteristics, and it is then inferred that the population has the same characteristics. [Question ID = 19972]
[Question Description = Ph.D.KORH_Q_050]

Simulation approach [Option ID = 145513]

Experimental approach [Option ID = 145514]

Inferential approach [Option ID = 145515]

Qualitative approach [Option ID = 145516]

AN wN -

49) HAS UE LLUASH SSAINA= A= I LY Al Jl=?[Question ID = 19973][Question Description =

Ph.D.KORH_Q_051]

A2} 21X [Option ID = 145517]
A& 22 [Option ID = 145518]
4 &= [Option ID = 145519]
1cd &2 [Option ID = 145520]

A W N -

50) OtcH & JH2 EF0 F=HALH =F At 0l RRZ M0l 20 AL
FEAZEHZI2FIZ2T 0L LE SFIAAE 2#H E MEtotd 2

;gg

Ct.
OlR R GICIRAIS BHF==O AHOZ 018 EHSt= 832 NS AX ASHAIZCH

[Question ID = 19974][Question Description = Ph.D.KORH_Q_052]
1. A2t R2 25 #0/1) RS A0l THEH SHIE £ HO0IC.

[Option ID = 145521]
2. A% R2 25 Z0|XI0 RS A0 CHEH SHIZ 20| OFLICH

[Option ID = 145522]
3. A= ZO|XI2FRS HAOICH

[Option ID = 145523]
4. A= HFOIXI B RS ZOICH

[Option ID = 145524]

51) Otch & JHel 2&O0l =0l &L

2E 111896 Y2238 WS I FECZ SHEIEE HAIOI L 2L = 2 EGHALD M QR L.
SHEI: HAIOt= 0l MetS HRSHD T4l 19038 39 H 0 A 822 2SS FMeHRLCH
A= HFOOLeH =T SEUNA EES HHGHAI2L.

[Question ID = 19975][Question Description = Ph.D.KORH_Q_053]
1. 2& 10 2&1 25 A& 0ICtH.

[Option ID = 145525]
2. 2F 10 2= 25 HROICH

[Option ID = 145526]
3. 2 I2 A0l 2& = HAO0IC.

[Option ID = 145527]
4. 212 HF0ID 2F = AFAOICH

[Option ID = 145528]

52) =20 RASYHSES =S ALE 2 52 JI?7[Question ID = 19976][Question Description = Ph.D.KORH_Q_054]
0120} [Option ID = 145529]

t‘—\m S| [Option ID = 145530]

& 52t [Option ID = 145531]

2 [Option ID = 145532]

AL'JN—\

53) 958E Ol U HANE=E It M A &Y =IH?[Question ID = 19977][Question Description = Ph.D.KORH_Q_055]
23 [Option ID = 145533]

Z & & [Option ID = 145534]

HIZ [Option ID = 145535]

S 2& [Option ID = 145536]

A wnN =

54) St=20N X3 HSHO0| & E &SI XAI| WS EO0| & A= IH?[Question ID = 19978][Question Description =
Ph.D.KORH_Q_056]

2§ = [Option ID = 145537]

2 & [Option ID = 145538]

& S &t [Option ID = 145539]

%| 7135t [Option ID = 145540]

A W N -

55) S&t0| 1Xt HAES A H ot = It?[Question ID = 19979][Question Description = Ph.D.KORH_Q_057]

1. 2004 [Option ID = 145541]
2. 20064 [Option ID = 145542]



3. 2009 [Option ID = 145543]
4. 2010 [Option ID = 145544]

56) 18821 SI=Z2 AR A S X2 0|2 W TS WAL =249 0| E 2 2 A 2 JI?[Question ID = 19980][Question

Description = Ph.D.KORH_Q_058]

. 25X 9 [Option ID = 145545]

-0l 25 SAHX 9 [Option ID = 145546]
MDIASIAEH [Option ID = 145547]
+5 S4 X0 [Option ID = 145548]

A wWwN =
)‘HFHFHO
HU 02

57) 8 =20'1L5 Ot& S Liehgtl 22l = 0l R &= Chaoxian0|2t= & el SENAM CH 12010 XN &Y
(A) l& £ = Oot& 2 2 0I5t Chao

(B) 3t 2 & 2| 0| 8t = Chao

(C) A Bt HLE XHZ & S 2 0l 6= Xian

(D) ® 3l £ °| 0l o} = Xian[Question ID = 19981][Question Description = Ph.D.KORH_Q_059]

A & C [Option ID = 145549]

A & D [Option ID = 145550]

B & C [Option ID = 145551]

B & D [Option ID = 145552]

A wWwN -

58) St=20 OHAI 2 & 2 %221 J1?[Question ID = 19982][Question Description = Ph.D.KORH_Q_060]
= [Option ID = 145553]
Z [Option ID = 145554]

1Z [Option ID = 145555]

442 [Option ID = 145556]

AL'JN—\

59) St 0l A OFAECtAI U B Al S MASH=E 3 Ati= O CI 21 J1?[Question ID = 19983][Question Description =
Ph.D.KORH_Q_061]

1. &4UB0I2Z A A [Option ID = 145557]

2. SKHFOIAFOI 1 A [Option ID = 145558]

3. LIS A< [Option ID = 145559]

4, E2Y M < [Option ID = 145560]

60) 20218 ASAIE 23 & HQ & X =?[Question ID = 19984][Question Description = Ph.D.KORH_Q_062]
2 MIE [Option ID = 145561]
2+ 2 & [Option ID = 145562]
8t & [Option ID = 145563]
ALXI 04l [Option ID = 145564]

A W N -

61) 43|= 892 Xt&st 8= Al B 2?[Question ID = 21971][Question Description = Ph.D.KORH_Q_063]
1. tS|H [Option ID = 145565]
2. Bt@ = [Option ID = 145566]
3. OEH 2 [Option ID = 145567]
4. 01 THS [Option ID = 145568]

A W N -

62) 20208 CRESEL M SHESEsE ez
Ph.D.KORH_Q_064]
&0135| [Option ID = 145569]
2IH S [Option ID = 145570]
OFAH [Option ID = 145571]
2171 [Option ID = 145572]

4

=?[Question ID = 21972][Question Description =

A w N =

63) &t = = AH A OFY O E =?[Question ID = 21973][Question Description = Ph.D.KORH_Q_065]
[Option ID = 145573]
ot [Option ID = 145574]
& [Option ID = 145575]
[Option ID = 145576]

;
Jx

e M ke M

AW
30 0V o ©
o 1t

-

S
=

o
N
~

= & B C BTSE 22 2 20| 6t=I?[Question ID = 21974][Question Description = Ph.D.KORH_Q_066]
Ct [Option ID = 145577]
&t [Option ID = 145578]
ct [Option ID = 145579]
Ct [Option ID = 145580]

@

0L 0Z 0
oM@
5B

o A
oM W

0z

65) QI =29 F 3 AJI &G 8 =22 K9 Thunder 32| ol = H & QI 91 =9 K9 Vajra HIAE A &
3| A= OICI 2 Df?

(A) 830 B A

B) =g IZ2F4&Y

(C) Hindustan Aeronautics Ltd (HAL)
(D) ctHIHEEZ (L&T)

g A2?
sUth. 1%



[Question ID = 21975][Question Description = Ph.D.KORH_Q_067]
1. A& C

[Option ID = 145581]
2. A&D

[Option ID = 145582]
3.B&C

[Option ID = 145583]
4. B&D

[Option ID = 145584]

66) HetOI=2 O 0|2 £ 2 IF?[Question ID = 21976][Question Description = Ph.D.KORH_Q_068]
=098 [Optlon ID = 145585]

A %] 817018 [Option ID = 145586]

H=0 2= [Option ID = 145587]

A= st=< [Option ID = 145588]

A wWw N =

67) St=2 = T AIJ}2030E HIH A AXE RXSte] D ot =IH?[Question ID = 21977][Question Description =
Ph.D.KORH_Q_069]

A2 [Option ID = 145589]

= AF [Option ID = 145590]

012 [Option ID = 145591]

o1& [Option ID = 145592]

A W N -

68) Otch S 2 2&0l FHANLH =& A%
= o

FEASE2ER2AF2AS

Ol SE5HX &ALk
ORR SS 02D SN EHUS ES 0 Kol 220 “AUS R2"S BYG= 4YS HE

[Question ID = 21978][Question Description = Ph.D.KORH_Q_070]
1. ASIB= ALAI0I12 R2 ASl & &YO0IL.

| X ZARUAS SH HESNAM LY 2H2= 88

-|0I|

SEOl SRULCH

[Option ID = 145593]
2. ASIBE AFAIOIXISH R2AS| 2HIE HZ 0] OFLICH

[Option ID = 145594]
3. A= AFALOIKIQHBE AFAIO| OFLICH.

[Option ID = 145595]
4. A= A OIXIQBE ALAIOICH.

[Option ID = 145596]

69) Given below are two statements:
Statement I: Conceptual definitions consists of primitive and derived terms.

Statement Il: Conceptual definitions are neither true nor false. In the light of the above statements, choose the correct
answer from the options given below

[Question ID = 21979][Question Description = Ph.D.KORH_Q_071]
1. Both Statement | and Statement Il are true

[Option ID = 145597]
2. Both Statement | and Statement Il are false

[Option ID = 145598]
3. Statement | is correct and Statement Il is false

[Option ID = 145599]
4. Statement | is incorrect but Statement Il is true

[Option ID = 145600]

70) A modelis a

(A) Simplified picture of a part of the reality

(B) It is a set of interrelated guesses about the world

(C) It makes conclusion of the research

(D) It has some characteristics of the real world, but not all of them

[Question ID = 21980][Question Description = Ph.D.KORH_Q_072]
1. AB&C

[Option ID = 145601]
2. A,B&D

[Option ID = 145602]



3. B,C&D

[Option ID = 145603]
4. A,C&D

[Option ID = 145604]

71) Karl Popper argues that scientific knowledge develops through

A. Information
B. Conjecture
C. Refutation

D. Imagination

[Question ID = 21981][Question Description = Ph.D.KORH_Q_073]
1. A&B
[Option ID = 145605]
2. C&D
[Option ID = 145606]
3. B&C

[Option ID = 145607]
4. B&D

[Option ID = 145608]

72) A criterion variable is also known as[Question ID = 21982][Question Description = Ph.D.KORH_Q_074]
1. Control variable [Option ID = 145609]

2. Independent variable [Option ID = 145610]

3. Dependent variable [Option ID = 145611]

4. Discrete variable [Option ID = 145612]

73) Research hypotheses have these characters

(A) Clear

(B) Value free

(C) Specific

(D) Not amenable to empirical testing

[Question ID = 21983][Question Description = Ph.D.KORH_Q_075]
1. AB&C

[Option ID = 145613]
2. A,B&D

[Option ID = 145614]
3. A,C&D

[Option ID = 145615]
4. B,C&D

[Option ID = 145616]

74) In Chicago style format

(A) Book names are cited in italics

(B) Books names are cited in roman
(C) Journal names are cited in italics
(D) Journal names are cited in romans

[Question ID = 21984][Question Description = Ph.D.KORH_Q_076]
1. A&C

[Option ID = 145617]
2. A&D

[Option ID = 145618]
3. B&C

[Option ID = 145619]
4. B&D

[Option ID = 145620]

75) Hypotheses are tentative answers to[Question ID = 21985][Question Description = Ph.D.KORH_Q_077]
1. Final conclusion [Option ID = 145621]

2. Research problems [Option ID = 145622]

3. Evaluation [Option ID = 145623]



4. None of these [Option ID = 145624]

76) A discrete variable has a[Question ID = 21986][Question Description = Ph.D.KORH_Q_078]
. Minimal size [Option ID = 145625]

. Maximum size [Option ID = 145626]

. Medium quantity size [Option ID = 145627]

. None of these [Option ID = 145628]

A W N -

77) Covariation in research means[Question ID = 21987][Question Description = Ph.D.KORH_Q_079]
. Two or more phenomena do not vary [Option ID = 145629]

. Two or more phenomena vary alternatively [Option ID = 145630]

. Two or more phenomena vary together [Option ID = 145631]

. None of the these [Option ID = 145632]

AW N =

78) Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R
Assertion: The statement of the objective is of basic importance in research

Reason: It determines the data which are to be collected, the characteristics of the data which are relevant, relations
which are to be explored, the choice of techniques to be used in these explorations and the form of the final report.

[Question ID = 21988][Question Description = Ph.D.KORH_Q_080]
1. Both A and R are true and R is the correct explanation of A

[Option ID = 145633]
2. Both A and R are true but R is not the correct explanation of A

[Option ID = 145634]
3. Ais true but R is false

[Option ID = 145635]
4. Ais false but R is true

[Option ID = 145636]

79) The logical model in which general principles are developed from specific observations is called as [Question ID =

21989][Question Description = Ph.D.KORH_Q_081]
Inductive research [Option ID = 145637]

Constructive research [Option ID = 145638]

Deductive research [Option ID = 145639]

None of these [Option ID = 145640]

A W N -

80) The logical model in which specific expectations of hypotheses are developed on the basis of general principles is called

as[Question ID = 19985][Question Description = Ph.D.KORH_Q_082]
Constructive research [Option ID = 145641]

Deductive research [Option ID = 145642]

Inductive research [Option ID = 145643]

None of these [Option ID = 145644]

A w N =

81) A hypothesis has following characteristics

(A) It is a tentative proposition.

(B) Its validity is unknown.

(C) It specifies a relationship between two or more variables.
(D) It specifies the conclusion

[Question ID = 19986][Question Description = Ph.D.KORH_Q_083]
1. AB&C

[Option ID = 145645]
2. A,C&D

[Option ID = 145646]
3. ALB&D

[Option ID = 145647]
4. B,C&D

[Option ID = 145648]

82) A hypothesis should be

A) Ambiguous

B) Simple

C) Specific

D) Conceptually clear

[Question ID = 19987][Question Description = Ph.D.KORH_Q_084]



1. AB&C

[Option ID = 145649]
2. A, C&D

[Option ID = 145650]
3. B,C&D

[Option ID = 145651]
4. A,B&D

[Option ID = 145652]

83) A hypothesis makes a prediction about the relationship between[Question ID = 19988][Question Description =

Ph.D.KORH_Q_085]

1. The two variables [Option ID = 145653]

2. Quantitative and Qualitative methods [Option ID = 145654]
3. Introduction and Objective [Option ID = 145655]

4. Introduction and Conclusion [Option ID = 145656]

84) Qualitative researchers generates original data through

(A) Autobiographies

(B) Online Survey

(C) Incident reports and accounts
(D) Paper survey

[Question ID = 19989][Question Description = Ph.D.KORH_Q_086]
1. A&B

[Option ID = 145657]
2. A&C

[Option ID = 145658]
3.B&C

[Option ID = 145659]
4. A&D

[Option ID = 145660]

85) Choose the most incorrect option:

Exploratory research studies are done for

[Question ID = 19990][Question Description = Ph.D.KORH_Q_087]
1. To satisfy the researcher’s curiosity and desire for better understanding

[Option ID = 145661]
2. To test the feasibility of undertaking a more extensive study

[Option ID = 145662]
3. To develop the methods to be employed in any subsequent study

[Option ID = 145663]
4. To get definite answer

[Option ID = 145664]

86) Quantitative study designs are

(A) Not specific

(B) Well structured

(C) Have been tested for their validity
(D) Have been tested for their reliability

[Question ID = 19991][Question Description = Ph.D.KORH_Q_088]
1. A,B&D

[Option ID = 145665]
2. A,C&D

[Option ID = 145666]
3. AB&C

[Option ID = 145667]
4. B,C&D

[Option ID = 145668]

87) The advantages of a questionnaire are



(A) It is less expensive

(B) It offers greater anonymity

(C) Spontaneous responses are not allowed
(D) It is possible to consult others

[Question ID = 19992][Question Description = Ph.D.KORH_Q_089]
1. A&B

[Option ID = 145669]
2. A&C

[Option ID = 145670]
3. B&C

[Option ID = 145671]
4. B&D

[Option ID = 145672]

88) The disadvantages of a questionnaire are

(A) Application is limited

(B) Response rate is low

(C) It offers greater anonymity
(D) There is a self-selecting bias

[Question ID = 19993][Question Description = Ph.D.KORH_Q_090]
1. AB&C

[Option ID = 145673]
2. A, C&D

[Option ID = 145674]
3. ALB&D

[Option ID = 145675]
4. B,C&D

[Option ID = 145676]

89) The advantages of the interview in research are

(A) The interview is more appropriate for complex situations
(B) Interviewing is time and money saving

(C) Questions can be explained

(D) The researcher may introduce his/her bias

[Question ID = 19994][Question Description = Ph.D.KORH_Q_091]
1. A& C

[Option ID = 145677]
2. A&D

[Option ID = 145678]
3. B&C

[Option ID = 145679]
4. B&D

[Option ID = 145680]

90) The disadvantages of the interview in research are

(A) The quality of data may vary when many interviewers are used
(B) The quality of data depends upon the quality of the interviewer

(C) The quality of data depends upon the quality of the interaction

(D) Interviewing has a wider application

[Question ID = 19995][Question Description = Ph.D.KORH_Q_092]
1. AB&C

[Option ID = 145681]
2. A, C&D

[Option ID = 145682]
3. AB&D

[Option ID = 145683]
4. B,C&D



[Option ID = 145684]

91) Choose the most incorrect option:

Problems with using data from secondary sources are
[Question ID = 19996][Question Description = Ph.D.KORH_Q_093]
1. Validity

[Option ID = 145685]
2. Personal bias

[Option ID = 145686]
3. Reliability

[Option ID = 145687]
4. None of the these

[Option ID = 145688]

92) Secondary data includes

(A) Journals & magazines
(B) Television
(C) Magazines
(D) Interviews

[Question ID = 19997][Question Description = Ph.D.KORH_Q_094]
1. AB&C

[Option ID = 145689]
2. AB&D

[Option ID = 145690]
3. A,C&D

[Option ID = 145691]
4. B,C&D

[Option ID = 145692]

93) The different types of validity in quantitative research are:

(A) Content validity

(B) Concurrent and predictive validity
(C) Construct validity

(D) Context Validity

[Question ID = 19998][Question Description = Ph.D.KORH_Q_095]
1. AB&C

[Option ID = 145693]
2. A,B&D

[Option ID = 145694]
3. A,C&D

[Option ID = 145695]
4. B,C&D

[Option ID = 145696]

94) Worthiness in a qualitative study is determined by

(A) Credibility
(B) Transferability
(C) Dependability
(D) Flexibility

[Question ID = 19999][Question Description = Ph.D.KORH_Q_096]
1. AB&C

[Option ID = 145697]
2. AB&D

[Option ID = 145698]
3.A,C&D

[Option ID = 145699]
4. B,C&D



[Option ID = 145700]

95) Given below are two statements:

Statement I: The formulation of a hypothesis provides a study with focus. It tells you what specific aspects of a research
problem to investigate.

Statement II: A hypothesis tells you what data to collect and what not to collect, thereby providing focus to the study. In
the light of the above statements, choose the correct answer from the options given below

[Question ID = 20000][Question Description = Ph.D.KORH_Q_097]
1. Both Statement | and Statement Il are true

[Option ID = 145701]
2. Both Statement | and Statement Il are false

[Option ID = 145702]
3. Statement | is correct and Statement Il is false

[Option ID = 145703]
4. Statement | is incorrect but Statement Il is true

[Option ID = 145704]

96) Qualitative analysis involves a continual interplay between[Question ID = 20001][Question Description =

Ph.D.KORH_Q_098]

. Theory and analysis [Option ID = 145705]

. Theory and Conclusion [Option ID = 145706]

. Theory and Objective of the study [Option ID = 145707]
. Hypothesis and theory [Option ID = 145708]

A w N =

97) Choose the most inappropriate answer

Research designs are categorized into the following components

[Question ID = 20002][Question Description = Ph.D.KORH_Q_099]
1. Research Question

[Option ID = 145709]
2. Theory

[Option ID = 145710]
3. Use of data

[Option ID = 145711]
4. Structure of Chapters

[Option ID = 145712]

98) Reliability in research means[Question ID = 20021][Question Description = Ph.D.KORH_Q_100]
. Applying the same procedure in the same way will always produce the same result [Option ID = 145713]

. Applying the same procedure in the same way will always produce different result [Option ID = 145714]

. Applying the same procedure in the same way will always produce irregular result [Option ID = 145715]

. Applying the different procedure in the different way will always produce irregular result [Option ID = 145716]

A WN -

Topic:- KORH851B

1) 8= A0 JAAH B ES#SH Y SOYSHUI =2 FYOICH &2 M2 19508 63 252 0l AIFE O 2F 3@ 2t XIS g
ALH O J]2t S St Ol A= Sf 4008 B Ol S, &F 10002t B2 JHE0| @=S22 EGW/LHL

HHYO ML A= AEBUAHM FE G0 JHLJLHL 2B MAZ EE S E0 ML A= S0 X 384 220
HeASMHXEe &St EO B OFE L 1953 &= AR A I U2 FE NS 2LOS0®AH FE HHO0l 0FHA
CH.OIZM XIERE 382t M2 94 S LHE & AULH

= MO TEE = S0 ...[Question ID = 20022][Question Description = Ph.D.KORH_Q_007]

1. Ao o2 425 5/€0] e D AT [Option ID = 145717]

2. st=2% =29 SMEEO0| 0IFHZLLL. [Option ID = 145718]

3. 0|22 =&t HeZ2 30l ML D UUACH [Option ID = 145719]

4, 5= 22 F09 FH ZO0| MALHAN 0I=2% FHEEFHH0| 0|FH & Ch. [Option ID = 145720]

2) St HAOI A0 JtE S8 Y SO otLtJr &= MHMOICH St A2 19508 62 252 0l AIZTOf & 362t X £ &

-

AL 0l J12t St t.'_FEOiIkI=°h 400'3*040I=-;%'_|_, ok 10002t H O JIHO0I E=22 = EW AL

dHO ML A= AEBUA SE S0 JALALHL ABA HMAZ EE S S0 ML A= S0 384 220
KeE HSoiH XIEe @S2 B OFE L 19538 et= F R A [US FH NAS 2LOIS02A FE HHO0l 0IF0HA
CHOIZMW XSRS 352t HY2 A S HE &= AULH

3
e

§t= ® A 0| ZLt= 0l 2...[Question ID = 20023][Question Description = Ph.D.KORH_Q_008]
1. = SN 3IZ0lA 3848 220 M ZHFO0| StC. [Option ID = 145721]
2. 22 0=2 0N ZHO0| SC [Option ID = 145722]



£ 2H0}S UCH [Option ID = 145723]
I

. [Option ID = 145724]





